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CALCULUS AND DIFFERENTIAL
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Attempt all questions. Question no. 1
is compulsory.
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Attempt any five questions— ~
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Find the nth differential cocfficient
I

of tan™ x. P.T.0.
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(ii}f__m‘-ﬁﬁ?ﬁ = Fr3 g afafa wifag,
Define an asymiptotes with the
figure.

(i)  y=3x?— 43 + | * 9 ofiwds
~ T 3 Ff
Find the point of inflexion of the
curve y = 3x4 _.4x3 +1.

@/;E y=x3 +5x2 +6x qa-fag
R aAha = 3@ w2
Fipd the radius of curvature at origin

of the curve y= x3 +5.:u:2 +6x.
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Evaluate—
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Find the total area of the ellipse
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Define orthogonal trajectory.

(viii) &8 |-

dy
{(x+y+1 =1
y+1) /

Solve—
(x+y+l)%=l
(ix) T Hifg-
%:{—+m4y=0
Solve—
iii+'m4y=0
| g/x)/mﬂﬁﬁ*rq—
2$~xdy+y=2mgx
Sol\fe—:k'
xziz-i}f———xdy + y=2logx

s - 1
(Unit - 1)
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(x% = DPpr +2N+ D) XYy

+(n?=m*)y, =0
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If y”’" —Um _. 2, then prove that-
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(x? = Dypaz +(20+ Dxypas
+ (n2 - mz)yn =0
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(Or)

EED _1’3 -—xzy—Z.xyz +2x° -Tf.u'y+3_1«'2

+2x% + 2x+ 2y +1=0 W A Wi
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Find the asymptotes of the given curve
» —-xzy - nyz +2x° — Txy + 3_}’2

+2x% +2x+2y+1=0-
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Prove that for the ellipse —2'+%2"=1
a

¥

p=a2b21‘P3. Where P is length of

perpendicular from centre upon the
tangent at (x, y).
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(Or)

TF 2 (a—x)= x(a+x)'ﬂ~°ﬂ'ﬁ€“1
i)

"Trace the curve yz (ga—x)= x2 (a+x)

P.T.O. .
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Prove that—
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2 sin x .
o dx=-—
0 “smx +m 4
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(Or)
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T Yy = log

e’ +1 ¢x=l_ﬂx=2m
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h of the are of thé Curve

H WM eran
Find the lengt
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(l+4ty+2;r de+(]+4xy+2x Ydy =0
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(7)) V - 140 : (8) -
Solve- Solve by the method of variation of
(1 +4xy+2y2)dx +( +4xy+2x2)dy=0 parameters—
3T 42
(0r) ;+4y=4tan2x,
' dx
T wifwa-
P2 —2Pcoshx+1=0
Solve—

P%-2Pcoshx+1=0

g -V
(Unit - V)
6. ¥ Hifere- &8
2
4y 8P .9y =40sin5x
dt dx
Solve—
d*y _dy .
72 ~3dx+9y=405in5x
' aTqH]
(On) |
w=H fagmo =) fafu | s wifem-
d?y

—=+4y=4tanx
2
ax r.T.0.



